Spiel 1 Spiel 2 ~ Gesamt

Spiel 053 19:12|D 1 ZIERVOGL Josef 57 + 66 = 123
D 2 SEIBERT Ginter 58 + 57 = 115|0 #
Spiel 055 19:27|D 3 RUMETSHOFER Martin 49 + 59 = 108|# O
D4 RUMETSHOFER Michael 65 + 57 = 122|# #
Spiel 057 19:45|D 5 FISCHER Fritz 52 + 56 = 108
D1 ZIERVOGL Josef 54 + 61 = 115
Spiel 059 20:03|D 2 SEIBERT Glinter 50 + 54 = 113|0 #
D3 RUMETSHOFER Martin 48 + 51 = 99|# #
Spiel 061 20:19|D 4 RUMETSHOFER Michael 54 + 58 = 112|# #
D5 FISCHER Fritz 52 + 53 = 105
Spiel 063 20:35|D 1 ZIERVOGL Josef 56 + 49 = 105|# #
D3 RUMETSHOFER Martin 58 + 51 = 109|#
Spiel 065 20:52(D 2 SEIBERT Glinter 56 + 65 = 121|1#0
D4 RUMETSHOFER Michael 64 + 57 = 121|#
Spiel067 21:10|D 3 RUMETSHOFER Martin 50 + 54 = 104|0
D5 FISCHER Fritz 47 + 58 = 105|#
Spiel 069 21:26({D 4 RUMETSHOFER Michael 49 + 47 = 96|0
D1 ZIERVOGL Josef 65 + 59 = 124|#
Spiel 071 21:43|D 5 FISCHER Fritz 55 + 47 = 102
D2 SEIBERT Ginter 61 + 50 = 111|100




